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@ 15° @)20° ® 25° @ 30° ® 32°

/BOC = 2/A = 2x50° = 100° ©] 1,
OB = OC °]E& /OBC = (180° - 100°) + 2 = 40°
A 17 a0BC & YAHo|EZ /OBI = /IBC = 20°




4. ©& I1Yo)4 EA//CD ©o]1 (BAE =
(EAC & ufj, AC 9] 7-&?

@D 1lcm @ 2cm ® 3cm
@®)4cm ® 5cm

EA //CD °]|B& /EAC = /ACD (317}, /BAE = /ADC (5
$7h), (BAE = /EAC ©|E2 /ACD = /ADC

w2kA] AACD & o] 5HAZIgo|EE AC = AD °|tt.

w2bA] AC 9] 4ol 4cmolth




5. o2 IHY AABC A /B=35,/C=65°°1, 0 HI=
ZYZY AABC 9] QI WA o, zx o] 27]& oot

® 10° @ 12° 3@)15° @ 18 ® 20°

B
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i) /B =35°°]B& /AOC = 70°, LOAC = %(180" ~70°) =
55° -. LOAC = 55°

i) ZA = 180°—(35°+65°) = 80° | 2& /IAC = %XSO" = 40°
Lx = LOAC — /IAC = 55° —40° = 15° . /x = 15°




